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(1] A2V —¥ K5
(1) HYLS M O # R A
O JFk

£ 7K H 15 7K 275 /KPR 375 /K 475 7K 5 /K 675 /K 75 KR 85 KK
£ 7K H R5.9.5 R5.9.5 R5.9.5 R5.9.5 R5.9.5 R5.9.5 R5.9.5 R5.9.5
PN i i i & i i i} E &
= M= (C) 23.1 23.0 23.4 23.3 23.4 24.9 24 1 245
7k M= C) 21.9 22.2 18.1 17.0 16.9 16.9 15.1 15.0
— i il (ImLH) 6 0 0 0 9 1 0 0
PN 1% (MPN/100mL) 0 0 0 0 1 1 0 0
i fiF i3 fe = ¥ (mg/L) <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
S MR RE ZEOHE K UM M MR E R (mg/L) 0.22 0.22 0.30 0.33 0.31 0.28 0.17 0.33
7 v F Lk O 0 AW (mg/1.) <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08
o & N 2 o b A& Y (mg/L) <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
% K O = o b A& W (mg/L) <0.01 <0.01 <0.01 <0.01 <0.01 0.01 <0.01 <0.01
~ v A kRO E O E WY (mg/L) <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
oy e Y A % N (mg/L) 7.2 6.4 4.1 3.9 4.4 4.6 3.5 4.4
TNV TN, T RN E) (mg/L.) 180 170 61 49 61 67 49 50
A HBY (& A %K E TOC 0 &) (mg/L) 0.2 0.2 0.1 0.1 0.1 0.1 0.1 0.1
p H il 6.4 6.4 6.4 6.4 6.3 6.4 6.0 6.1
5 e BERL HERL L AL L BT HERL AL
=) B () <0.5 <0.5 0.5 0.5 <0.5 0.5 <0.5 <0.5
V) = () 0.1 <0.1 0.1 0.1 <0.1 0.1 <0.1 0.1
B X @ g (T O N ) <1 <1 <1 <1 <1 <1 <1 <1
7t & " # Al (ImLH") 64 1 14 8 40 30 1 30
N i7 #E| (MPN/100mL) 170 0 8 6 28 110 8 4
7 v E = 7 H r # (mg/L) 0.03 0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
it 173 A % N (mg/L) 120 120 40 29 38 45 41 37
T = I = R (mS/m) 39.8 40.6 17.2 14.3 17.1 18.5 14.2 14.6




1 JKIBHERX DK E R
[1] AZV—#KE;
(1) BT M OSHE B R A
@ JFK

£ 7K H R5.4.12 R5.5.10 R5.6.13 R5.7.5 R5.8.1 R5.9.5 R5.10.4 R5.11.8 R5.12.5 R6.1.17 R6.2.7 R6.3.5 SOUN B/ L
K e = 5 5 = = i 55 [l = i = = - - -
= & (‘©) 15.3 16.5 21.5 21.9 25.4 23.8 17.1 15.0 6.8 4.5 2.0 7.7 25.4 2.0 14.8
K R (©) 17.7 17.1 16.3 16.9 17.7 17.6 17.5 18.1 18.1 18.2 18.4 18.4 18.4 16.3 17.7
— i i (ImLH) 2 1 0 0 2 0 0 0 0 0 0 0 0.4
I iz (MPN/100mL) 0 0 0 0 0 0 0 0 0 0 1 0 0.5
BRIV AR QXZEONRAED (mg/L) — — — — — — <0.0003 — — — — — — — <0.0003
K B K O 2 O b A& W (mg/L) <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
L v kO ZE O E W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
w k O x o b A& W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
E F K O o b A& W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
N oM 7 om A b A W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
fi fi fig: fe = F (mg/L) <0.004 — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004
T A A A e O A T v (mg/L) — — — — — — <0.001 — — — — — — — <0.001
YR ORE B OHE K OO RY MR RE & H (mg/L) 0.29 — — 0.28 — — 0.28 — — 0.22 — — 0.29 0.22 0.27
7 v EF kK O FE 0O AW (mg/L) <0.08 — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08
v F K O E O AW (mg/L) — — — — — — 0.05 — — — — — — — 0.05
by i} e R e (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
1,4~ D 5 s 4 e (mg/L) — — — — — — <0.001 — — — — — — — <0.001
VA-1,2-vr/anTF L2 NhT L A
12- ¥ 7/ o5 o =T F L v (mg/L) - - - — — — <0.0001 — — — — — — — <0.0001
D/ - S S S SN (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
S N 5 /7 v ouw = F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
K'Y ry v owm o x= F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
~ v + N (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
i) ES 73 (mg/L) — — — — — — — — — — — — — — —
7 =: = e [i73 (mg/L) — — — — — — — — — — — — — — —
7 = = Z2) v A (mg/L) — — — — — — — — — — — — — —
v 7 = = ik i (mg/L) — — — — — — — — — — — — — —
Y 7\ E 7 v oua kA (mg/L) — — — — — — — — — — — — — — —
B F fig (mg/L) — — — — — — — — — — — — — — —
®w b U N om A s (mg/L) - - - - - - - - - - - - - - —
[ A - T - T (mg/L) — — — — — — — — — — — — — — —
7 m % ¥ 7 mou AL v (mg/L) - - - - - - - - - - - - - - -
7 1 £ 7 JL L (mg/L.) — — — — — — — — — — — — — — —
. T Y A, 2 AR < (mg/L) — — — — — — — — — — — — — — —
o &K O F 0o b A& W (mg/L) <0.005 — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005
T2 Ak OZF O EW (mg/L) — — — — — — <0.01 — — — — — — — <0.01
% kK O o b A W (mg/L) <0.01 — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01
g K O = o kb A& W (mg/L) — — — — — — <0.01 — — — — — — — <0.01
TRV T AR QYEOAN,EW (mg/L) — — — — — — 9.4 — — — — — — — 9.4
~ v H Uk E O AW (mg/L) <0.005 — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005
i) 1k Y A %+ N (mg/L) 4.8 — — 4.7 — — 5.1 — — 5.8 — — 5.8 4.7 5.1
VAN /A Sy N Qi) (mg/L) 89 — — 78 — — 87 — — 120 — — 120 78 94
& B js %’ ) (mg/L) — — — — — — 192 — - - — — — — 192
= A 4 v R om & A (mg/L) - - - — — — <0.01 — - - — — — — <0.01
v - * 2 N v (mg/L) — — — — — — <0.000001 — — — — — — — <0.000001
2- A F )L A4 YV KR L R F — b (mg/L) — — — — — — <0.000001 — — — — — — — <0.000001
¥ A4 A Fom & M A (mg/L) — — — — — — <0.005 — — — — — — — <0.005
7 - ) — JL b (mg/L) — — — — — — <0.0005 — — — — — — — <0.0005
OB W (& F R % (TOC) © & ) (mg/L) 0.1 0.1 0.1 0.1 0.1 0.1 0.2 0.1 0.1 0.1 0.2 0.1 0.2 0.1 0.1

p H fiEd 6.4 6.4 6.3 6.4 6.4 6.4 6.4 6.4 6.4 6.4 6.4 6.5 6.5 6.3 6.4

% — — — — — — _ _ _ _ _ _ _ _ _

5 £ B BT FEIRL B B L L AL B AL FERL BT — — Bl
&) i () <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5
s 53 (F%) 0.1 0.1 0.1 0.1 0.1 <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
% e i) # (mg/L) — — — — — — — — — — — — — —
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£ 7K H R5.7.5 R5.10.4 RS

T T ELUV R DRYE O E W (mg/L) — <0.0003 — — <0.0003
v 7 v k O ZE O 1 Y| (mg/L) — <0.0002 — — <0.0002
=y 7 kO Z 01 Y| (mg/L) — <0.001 — — <0.001
1,2- ¥ -7 o N (mg/L) — <0.0001 — — <0.0001
I JL N (mg/L) — <0.0001 — — <0.0001
THENVEBEY (-2 F v ~F L) (mg/L) — <0.001 — — <0.001
iffi i) fig (mg/L) — — — — —
Y 7 v ua 7 & k % (mg/L) — — — — —
i) 7K 7 L (mg/L) — — — — —
J 3 ¥ — <0.001 — — <0.001
iE Fife 173 (mg/L) — 19 — — 19
LL,I- F YV 7 v oo x X v (mg/L) — <0.0001 — — <0.0001
AF ) —t- 7 F )L = — F )L (MTBE) (mg/L) — <0.0001 — — <0.0001
BOK R E T O N ) <1 <1 <1 <1 <1
B R (7 )T ) — -2.2 — — -2.2
{8 = g (ImLH) 10 14 39 8 18
11- ¥ 7 o o =™ F L v (mg/L) — <0.0001 — — <0.0001
NWINVFaAI R ANVE/BE(PFOS) K Y

NVINVERA IS EE(PFOA) (mg/L) — <0.000005 — — <0.000005
B = {63 EE (MPN/100mL) — 0 — — 0
b % 0 B F# 5 (mg/L) — — — — —
Zo /I (= O & (mg/L) — — — — —
b 17 F (mg/L) — — — — —
S F (mg/L) — — — — —
4 N (mg/L) — — — — —
W R Mk N (mg/L) — — — — —
b it & (mg/L) — — — — —
v = v (MPN/L) — — _ _ _
i X P (MPN/L) — 6 — — 6
X 15 #| (MPN/100mL) 4 12 57 1 16
E S (MPN/100mL) — — _ _ —
7 oy E = e (mg/L) <0.02 <0.02 <0.02 <0.02 <0.02
77 JL A (mg/L) — 20 — — 20
~ 7 = A (mg/L) — 6.9 — — 6.9
it figz N (mg/L) 53 61 91 53 66
Y N G N (mg/L) — — — — —
A= HE (mg/L) — — — — —
B 7 JL B (mg/L) — 34 — — 34
o = = R (mS/m) 21.6 22.5 32.3 15.2 24.6




1 KB DKE R

X 7K H R5.10.4

MPP # % Y v X JL &K v (mg/L) <0.00005
A N (mg/L) <0.0001
7 + X D 7 ) K (mg/L) <0.0001
4 I X = Jy F (mg/L) <0.0001
A = = V 7 N (mg/L) <0.0001
va 7 = + >/ — % (mg/L) <0.0001
A4 ~ Y A ) 7 o (mg/L) <0.0001
-— K % ¥ X N 7 v v (mg/L) <0.0001
= bk ~ N VA = K (mg/L) <0.0001
r X ¥ v 7 X (mg/L) <0.0001
J = 7 7 = % N (mg/L) <0.0001
/ v ) ¥ U K AR A F (mg/L) <0.0001
Yy 7 = J a F J = (mg/L) <0.0001
vy 7 v o oy = (mg/L) <0.0001
e A o 7 > — JL (mg/L) <0.0001
D2 A VS N A S (mg/L) <0.0001
7 7 7 = 7 ) R (mg/L) <0.0001
7 7 A ~ * VA A (mg/L) <0.0001
e 7 JL VA R R (mg/L) <0.0001
7 N 7 = F Y — )L (mg/L.) <0.0001
7 7 7 - / P4 N (mg/L) <0.0001
kYU ox X Xy J o= F O (mg/L) <0.0001
Ky 7 oy 2 Y = L (mg/L) <0.0001
A - A R A % (mg/L) <0.0001
v 7 Y A v 7 o na v o F gL (mg/L) <0.0001
7 7 A ~ = % (mg/L) <0.0001
7 JL 7 % Z) > 7 (mg/L) <0.0001
N Z 7 ) N (mg/L) <0.0001
VA A S = T (mg/L) <0.0001
7 = = e -7 (mg/L.) <0.0001
D4 va E = N (mg/L) <0.0001
7 = JL 7 = — JL (mg/L) <0.0001
N A - N A I . % (mg/L) <0.0001
V2NN = S SN P A = BN A S el (mg/L) <0.0001
= 7 - J > 7 A (mg/L) <0.0001
7z 7 ¥ = . 7 nu v (mg/L) <0.0001
7 JL b~ 7 = v (mg/L) <0.0001
Zp + i JL (mg/L) <0.0004
kv 7 vl AAF NV F XD (mg/L) <0.0001
) v v L -2-7 & v F ) (mg/L) <0.0001

(1] AXV—KEG
(1) B M ONHE B A A
OV

£ 7K H R5.10.4
2,4-D(2,4-PA) (mg/L) <0.0001
MCPA (mg/L) <0.00005
7 > S 7 A (mg/L) <0.0001
7 + 7 - — ~ (mg/L) <0.00005
7 ~ 7 Y N (mg/L) <0.0001
7 7 7 = — I (mg/L) <0.0001
A v ¥ va gl % N (mg/L) <0.00005
4 Y 7 wv Hh 7 (MIPC) (mg/L) <0.0001
A 7 v F A 7 v (IPD (mg/L) <0.0001
A 2 J 7 vl 4 N (mg/L) <0.00006
A N vl / 7 7 N (mg/L) <0.00005
©— 7 = v F owm vy 7 A (mg/L) <0.0001
A - T I (mg/L) <0.0001
A % v v A B ) (mg/L) <0.0001
7 = v A b w — J (mg/L) <0.00005
71 % A ) % (NAC) (mg/L) <0.0001
& J J 7 D N (ACN) (mg/L) <0.00005
S ¥ 7 v e (mg/L) <0.0001
J D JL = N (mg/L) <0.0001
Z i 7z H — ~ (mg/1.) <0.02
7 = % t ) ) A (mg/L) <0.00001
7 w m X m = ) (TPN) (mg/L) <0.0001
v 7 A Y N (mg/L) <0.00001
P4 74 = N (DCUM) (mg/L) <0.0001
> 7 m <X =, (DBN) (mg/L) <0.0001
Y s wmw g R Z  (DDVP) (mg/L) <0.00005
4 7 % t JL (mg/L) <0.00005
v ~ % v (CAT) (mg/L) <0.00001
‘4 A T v % > (mg/L) <0.00001
I v 7 A (mg/L) <0.0002
¥ 7 > 7 JL 7 (mg/L) <0.0001
F A 7 7 XX — b A F (mg/L) <0.0001
~ ) J = t JL (mg/L) <0.00005
K Yy r w A & » (DEP) (mg/L) <0.00005
X i 7 JL 7 i e (mg/L) <0.0001
7+ v o 2% 3 R (mg/L) <0.0001
vy ¥ 7 = F F v (mg/L) <0.00001
= ) 7 7 V) % 7 (mg/L) <0.0001
7 4 7 = = JL (mg/L) <0.000005
7 = = bk v F F ¥ (MEP) (mg/1) <0.0001
7 = J 7 4 v 7 (BPMQ) (mg/L) <0.0001
7 = v F F v (MPP) (mg/L) <0.00005
7 v D 7 2 (mg/L) <0.0001
- = > D K Ve (mg/L) <0.0001
7 v ¥ a2y = L (mg/L) <0.0001
7 = = va D K (mg/L) <0.0001
~ / D JL (mg/L) <0.0002
~ N e 7 = N (mg/L) <0.0001
~ > 7 4 > (mg/L) <0.0001
A A R T A (mg/L.) <0.0001
X T Ty (RN 2a Y ) (mg/L) <0.0001
~ N 7 L + — b~ (mg/L) <0.0001
A a7 0oy 7 (MCPP) (mg/L) <0.0001
A v D JL (mg/L) <0.0001
A v 7 =S > JL (mg/L) <0.0001
A 7 = = JL (mg/L) <0.0001
4V % ¥ F F v F F Vv (mg/L) <0.00001
A A A N A (mg/L) <0.00001
MPP A JL 2N X T R (mg/L) <0.00005
MPP 2 L 2N N (mg/L) <0.00005
MPP 7 ¥ >V N (mg/L) <0.00005
MPP 4+ % YV v X ) & ¥ L R (mg/L) <0.00005




1 KBS DK E A
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(1) BYEF R UHIE R
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£ 7K H R5.5.10 R5.6.13 R5.9.5 R5.10.4 R5.11.8 R6.1.17 N B/ L
PN e 5 5 5 55 i il - - -
= ! (‘©) 20.0 22.6 25.3 17.3 16.9 3.8 25.8 3.3 15.7
7K R (©) 16.9 16.7 18.8 18.1 18.3 17.3 18.8 16.7 17.8
— i i (ImLH) 0 0 0 0 0 0 0 0
PN iz (MPN/100mL) 0 0 0 0 0 0 0 0
BRIV AR QXZEONRAED (mg/L) — — <0.0003 — — — — <0.0003
K Kk O F o &b A W (mg/L) — — <0.00005 — — — — <0.00005
L v kO ZE O E W (mg/L) — — <0.001 — — — — <0.001
w Kk O o kb & W (mg/L) — — <0.001 — — — — <0.001
E F K O o b A& W (mg/L) — — <0.001 — — — — <0.001
N oM 7 om A b A W (mg/L) — — <0.001 — — — — <0.001
iffi fi {73 fe = F (mg/L) — — <0.004 — <0.004 <0.004 <0.004 <0.004
T A A A e O A T v (mg/L) — — <0.001 — — — — <0.001
WY OWERE O K OO R MR ORE B E (mg/L) — — 0.27 — 0.22 0.29 0.22 0.27
7 v EF kK O FE 0O AW (mg/L) — — <0.08 — <0.08 <0.08 <0.08 <0.08
v F K O E O AW (mg/L) — — 0.05 — — — — 0.05
by i} e R e (mg/L) — — <0.0001 — — — — <0.0001
1,4- 4 4 X N (mg/L.) — — <0.001 — — — — <0.001
S 2A-1,2-VrunxF Lk NN T A
12- ¥ 7/ o5 o =T F L v (mg/L) - — <0.0001 — — — — <0.0001
D/ - S S S SN (mg/L) — — <0.0001 — — — — <0.0001
S N 5 /7 v ouw = F L v (mg/L) — — <0.0001 — — — — <0.0001
K'Y ry v owm o x= F L v (mg/L) — — <0.0001 — — — — <0.0001
~ v + N (mg/L) — — <0.0001 — — — — <0.0001
oy F i3 (mg/L) — — <0.06 — <0.06 <0.06 <0.06 <0.06
7 = = 43 [i73 (mg/L) — — <0.002 — — — — <0.002
J = = zp JL WA (mg/L) — — <0.0001 — — — — <0.0001
v 4 = = HE {73 (mg/L) — — <0.002 — — — — <0.002
Y 7 m T J noua A K v (mg/L) — — <0.0001 — — — — <0.0001
5 e fig (mg/L) — — <0.001 — — — — <0.001
wmor U oo m A H (mg/L) — — <0.0001 — — — — <0.0001
) 7 = = {73 (mg/L) — — <0.002 — — — — <0.002
7 nm ® ¥V J v B XX v (mg/L) — — <0.0001 — — — — <0.0001
7 = =+ 2N L U (mg/L) — — <0.0001 — — — — <0.0001
X v oA 7 A F v K (mg/L) — — <0.002 — — — — <0.002
o &k N ZF O b & W (mg/L) — — <0.005 — <0.005 <0.005 <0.005 <0.005
TILVI=g Ak OXZF DOl EW (mg/L) — — <0.01 — — — — <0.01
% X O o b A& W (mg/L) — — <0.01 — <0.01 0.02 <0.01 <0.01
g K O = o kb A& W (mg/L) — — <0.01 — — — — <0.01
TRV T AR QYEOAN,EW (mg/L) — — 9.9 — — — — 9.9
~ v vk E O LA W (mg/L) — — <0.005 — <0.005 <0.005 <0.005 <0.005
i) 1k Y A %+ N (mg/L) — — 5.2 — 5.8 5.8 4.8 5.2
TNV TN, TR N E) (mg/L) — — 100 — 130 130 87 107
7K B o e ) (mg/L) — — 208 — — — — 208
2 A A v R om W Al (mg/L) — — <0.01 — — — — <0.01
v - * 2 N (mg/L) — — <0.000001 — — — — <0.000001
2- A F )L A4 YV KR L R F — b (mg/L) — — <0.000001 — — — — <0.000001
¥ A4 A Fom & M A (mg/L) — <0.005 — — — <0.005
7 - ) — JL b (mg/L) — — <0.0005 — — — — <0.0005
OB W (& F R % (TOC) © & ) (mg/L) 0.1 0.2 0.2 0.2 0.2 0.2 0.1 0.1

p H fiEd 6.8 6.4 6.8 6.8 6.8 6.9 6.4 6.8

S HERL B L HEL HERL Bl — — FHERL

5 £ BERL B Bl L AL AL — — B
&) = () <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
V) 3 () <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1
% o oy e (mg/L.) 0.3 0.4 0.3 0.3 0.3 0.4 0.3 0.3
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£ H R5.4.12 R5.5.10 R5.6.13 R5.7.5 R5.9.5 R5.10.4 R5.11.8 R5.12.5 R6.1.17 R6.2.7 R6.3.5 S

T FEUVRERRIZEONLREWY (mg/L) — — <0.0003 — — <0.0003
v 7 v kO O f V) (mg/L) — — <0.0002 — — <0.0002
=y kO Z 01k Y| (mg/L) — — <0.001 — — <0.001
1,2- ¥ -7 no N (mg/L) — — <0.0001 — — <0.0001
~ IV N (mg/1.) — — <0.0001 — — <0.0001
THENVEEY (-2 F L ~F L) (mg/L) — — <0.001 — — <0.001
i 1 fig (mg/L) — — <0.06 — — <0.06
v 7 au 7 k& b JL (mg/L) — — <0.001 — — <0.001
I JL (mg/L) — — <0.001 — — <0.001
i3 JH — — <0.001 — — <0.001
g i 74 (mg/L) - - 11 — — 11
1,1,1- Y 7/ 5w x X v (mg/L) — — <0.0001 — — <0.0001
AF )L —t- 7 F )L —F )L (MTBE) (mg/L) - — <0.0001 — — <0.0001
S T O N ) <1 <1 <1 <1 <1 <1
A (7 v 2 U T R ) — — -1.5 — — -1.5
s = g (ImLH) 4 4 22 22 0 8
11- ¥ 7 g g = F L v (mg/L) — — <0.0001 — — <0.0001
NVINERF B ANVKR ER(PFOS) K& T

NNV VAR IS EER(PFOA) (mg/L) — — <0.000005 — — <0.000005
B & P (MPN/100mL) — — — — — —
b % B @ = (mg/L) — — — — — —
Ao /I A= O] & (mg/L) — — — — — —
e ¥ ES (mg/L) — — — — — —
£ ES (mg/L) — — — — — —
4 v (mg/L) — — — — — —
W Mk > (mg/L) — — — — — —
i fiig Bk (mg/L) — — — _ _ _
v = (MPN/L) - — _ - - -
R - (MPN/L) - - 0 - — 0
N 2 #E| (MPN/100mL) — — - — — —
S GO (MPN/100mL) — — — _ _ _
AR ES (mg/L) — - — — — —
) % A (mg/L) - — 28 — — 28
~ ZA | A (mg/L) - — 7.0 - — 7.0
it i3 g (mg/L) 61 53 61 92 53 67
) N 7 N (mg/L) — — — — — —
A= N - A (mg/L) — — — — — —
b T JL Jisy (mg/L) — — 53 — — 53
T e I H (mS/m) 27.5 19.2 17.1 23.6 23.4 26.1 31.4 32.3 33.5 34.7 27.4 34.7 17.1 27.1
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MPP 4+ % Y v X ) K v (mg/L) <0.00005
7 X I kK A F x Vv (mg/L) <0.0001
7 + v D 7 ) N (mg/L) <0.0001
4 X % 7 wm 7 K (mg/L) <0.0001
A - = %4 7 v (mg/L.) <0.0001
T 7 = 7 > — % (mg/L) <0.0001
A < 4 2 JL - = NG (mg/L) <0.0001
- ¥ v A N 7 | =S (mg/L) <0.0001
- X v = F (mg/L) <0.0001
A S . % (mg/L) <0.0001
J = 7 7 = Y N (mg/L) <0.0001
7 v A ¥ U K R A F (mg/L) <0.0001
A A= A % (mg/L) <0.0001
>y 7 v o F v = ) (mg/L) <0.0001
> A = A > — JL (mg/L) <0.0001
> 3 7 N F 7 oz v (mg/L) <0.0001
v 7 7 = - ) K (mg/L) <0.0001
7 7 A b~ X VA A (mg/L) <0.0001
7 7 JV VA D N (mg/L) <0.0001
7> k7 oy = L (mg/L) <0.0001
va 7 7 - J P K (mg/L) <0.0001
YU xRy = F O (mg/L) <0.0001
Ky oy 2 ) =L (mg/L) <0.0001
N a7 T = (mg/L) <0.0001
v Y A ) 7 o v = F U (mg/L) <0.0001
7 7 A ~ = JL (mg/L) <0.0001
7 JL 7 v = > - (mg/L) <0.0001
R 2 v ) K (mg/L) <0.0001
7 Y *x ¥ Z k m v v (mg/L) <0.0001
Vi =i = 1 7 (mg/L) <0.0001
v A o = N (mg/L) <0.0001
VA = JL 7 o — JL (mg/L) <0.0001
kv 7 v R R A F L (mg/L) <0.0001
o om A Jb 7 m v X F U (mg/L.) <0.0001
= 7 - J D J A (mg/L.) <0.0001
7 7 ¥ =z v 7 v v (mg/L) <0.0001
7 % ~ 7 = JL (mg/L) <0.0001
Rz * v JL (mg/L) <0.0004
v 7 v R XA F IV F F (mg/L) <0.0001
U7 L -2-7 hF L F )L (mg/L) <0.0001

) Kk

£ 7K H R5.10.4

2,4-D(2,4-PA) (mg/L) <0.0001
MCPA (mg/L) <0.00005
7 > E 7 U (mg/L) <0.0001
7 + 7 - — ~ (mg/L) <0.00005
7 ~ 7 Y N (mg/L.) <0.0001
7 4 7 o — JL (mg/L) <0.0001
A v ¥ VA 7 %+ N (mg/L) <0.00005
A4 Y 7 v H 7  (MIPC) (mg/L) <0.0001
A4 vV 7 v F F Z v (PD) (mg/L) <0.0001
A 2 J 7 vl % N (mg/L.) <0.00006
A N vl / 7 7 N (mg/L) <0.00005
-— kN 7 = v F ua v 7 A (mg/L) <0.0001
T A - R A (mg/L) <0.0001
4+ X v v # (A B ) (mg/L) <0.0001
7 = v Ak m — L (mg/L) <0.00005
bl JL N ) JL (NAC) (mg/L) <0.0001
¥ / 7 7 D e (ACN) (mg/L) <0.00005
¥ ¥ 7 vl N (mg/L) <0.0001
7 3 JL = N (mg/L) <0.0001
7 ) N VA — ]\ (mg/L) <0.02
7 = JL = ) 7 2 (mg/L) <0.00001
7 v wu X v = J (TPN) (mg/L) <0.0001
> 7 A Y v (mg/L) <0.00001
Y 4 = N (DCUM) (mg/L) <0.0001
DA 7 =i ~ = JL (DBN) (mg/L) <0.0001
Y s w ) K A  (DDVP) (mg/L) <0.00005
4 ¥ % t JL (mg/L) <0.00005
v ~ Y N (CAT) (mg/L) <0.00001
v A 7 Y J N (mg/L) <0.00001
7 v 7 N (mg/L.) <0.0002
7 % D4 7 JL -7 (mg/L) <0.0001
F F 7 7y 3 — b A F (mg/L) <0.0001
~ U J = t L (mg/L) <0.00005
K Yy v w v & v (DEP) (mg/L) <0.00005
~ Y 7 )L 7 Y N (mg/1.) <0.0001
+ ~ =i 2% 3 N (mg/L) <0.0001
vy X 7 o v FF v (mg/L) <0.00001
= ) 7 7 & % 7 (mg/L) <0.0001
7 7 - = = JL (mg/L) <0.000005
7 = = L+ v F F v (MEP) (mg/L.) <0.0001
7 = /J 7 4 7 (BPMO) (mg/L) <0.0001
7 = v F F v  (MPP) (mg/L) <0.00005
7 vl D gz A (mg/L) <0.0001
e = v D R N (mg/L) <0.0001
7 v ¥ o Y = gL (mg/L) <0.0001
- = = va D N (mg/L) <0.0001
~ J 2 Jb (mg/L) <0.0002
~ v g 7 = v (mg/L) <0.0001
~ N v > N (mg/L.) <0.0001
A A R A A (mg/L.) <0.0001
X7 F7 Y (R 2a Y ) (mg/L) <0.0001
~ v 7 L e — ~ (mg/L) <0.0001
A = - o > 7 (MCPP) (mg/L) <0.0001
A Y 2 % (mg/L) <0.0001
A A 7 X g JL (mg/1.) <0.0001
A 7 = = JL (mg/L) <0.0001
4 Y % v F 4+ v F F J v (mg/L) <0.00001
o4 7T Y ) v F F Vv (mg/L) <0.00001
MPP 2 JL Rz} ¥ v N (mg/L) <0.00005
MPP 2 L 7 N (mg/1.) <0.00005
MPP %+ ¥ v N (mg/L) <0.00005
MPP #+ % YV v 2 L K % ¥ K (mg/1.) <0.00005




